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Since it takes out a Jewish daughter — HRIWY N22 XXM PR

Overview

The X723 explains that we would rather include 0¥ as one of the 2’132 by which
an 7°72vn AnX s acquired (rather than 7p117), since we find that 7w is effective by a
PX7w° na to take her out of marriage (i.e. a V), but we do not find that 7pm is
effective by a PX7w° na.

mooIn responds to an anticipated difficulty:
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This that the X713 does not mention, in its response, that an 7772y 72X should be
W2 71pP1, ‘since 9w brings her into marriage’ (the X3 [seemingly] should have
used this explanation), since this (9°101) is more similar to 72X 7°3p than vx which
is XX11; the answer is because regarding a wx (which is X°X1) it is written

explicitly in the 710 (however regarding being 0°19n [through “wwa PwITp] that is merely
derived, but not written explicitly).

Summary
It is preferable to bring proof from something which is written explicitly in the

7710 (even though it is not that similar), than to bring proof from something which
1s not written explicitly in the 7710 (even though it is more similar).

Thinking it over
The discussion here in our X723 is according to X701 27 who maintains that it is the

father (the 71pn)* who writes the 7°12v77 R qvw. That could be the reason the 873
prefers to derive it from v) where the 9¥2 (who is the mIpn)’ writes it; as opposed to
TP Tuw where the WX (who is the mp) writes it.* Why did not n190In use this
distinction?’

! We are discussing the 11p, through which women (72X or 7wx) are acquired. It would be more appropriate to say
that since an WX is 70w N°3p1 (it is ©°13n), it should also be effective to be 71 an 7°712¥7 nX; why mention v which
is not an acquisition as AR 7Ip is.

? The father is granting his daughter to the 117X (the p).

? The husband is 73p% to the woman her rights she no longer ‘belongs’ to her husband.

* See X"2vM.

> See mIpniT 90.
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